



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^0 + \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right) - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{1}{6} =$$



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{150}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) = \frac{113}{180}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{1}{5} = \frac{31}{5} = 6\frac{1}{5}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{2}{9}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{6} = \frac{49}{150}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{4}{5}\right)$$

$$\left(\frac{1}{4}\right)^{(-1)} + \frac{1}{2} = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{4} = \left(-\frac{3}{16}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{4}{25}\right)$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{5} = \frac{29}{80}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{3}{5} = \frac{113}{20} = 5\frac{13}{20}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} = \frac{97}{4} = 24\frac{1}{4}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{4}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{3}{5}\right) - \frac{1}{3} = \left(-\frac{14}{15}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{3} = \frac{7}{3} = 2\frac{1}{3}$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{1}{6} = \left(-\frac{11}{6}\right) = \left(-1\frac{5}{6}\right)$$